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# —-*x- coding: utf-8 -*-
# exppisqrtl63.py
from decimal import *
for p in range(10, 61, 5):
getcontext () .prec = p
pi = Decimal(’3.141592653589793238462643383279502884197169399 (LA FI&) *)
x = Decimal(’163’)
y = (pi * x.sqrt()) .exp()
print u’ *%E =7, P> wen,
print y

KSR = 10 : 2.625374097E+17

KEE = 15 : 2.62537412640764E+17

FEEE = 20 : 262537412640768744.17

5B = 25 : 262537412640768743.9999990

¥ = 30 : 262537412640768744.000000000024

KEE = 35 : 262537412640768743.99999999999924980

K5 = 40 : 262537412640768743.9999999999992500725944

FEEE = 45 : 262537412640768743.999999999999250072597198209

FEEE = 50 : 262537412640768743.999999999999250072597 19818568865

¥ = 55 : 262537412640768743.9999999999992500725971981856888793537
¥ = 60 : 262537412640768743.999999999999250072597198185688879353856337
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/* error_overflowlO.c */
#include<stdio.h>
int main()

{
double x = 1.0;
for(int i = 1; i <= 311; i++){
x *= 10.0;
printf("10°%d = %e\n", i, x);
}
return O;
}



107306 1.000000e+306

107307 = 1.000000e+307
107308 = 1.000000e+308
107309 = inf
107310 = inf
107311 = inf
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/* error_overflow2.c */
#include<stdio.h>
int main()
{
int x = 1;
for(int i = 1; i <= 35; i++){
X *= 2;
printf("2°%2d = %d\n", i, x);
}
return O;

}

(i)
2729

536870912
2730 1073741824
2731 = -2147483648
2732 =0

2733 =0
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/* error_overflow3.c */
#include<stdio.h>
int main()

{
int x = 1;
for(int i = 1; i <= 24; i++){
X *= 3;
printf("3°%2d = %d\n", i, x);
}
return O;
}
(GRS

3718 = 387420489

3719 = 1162261467
3720 = -808182895
3721 = 1870418611

3722 = 1316288537
3723 = -346101685
3724 = -1038305055
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/* error_underflow.c */
#include<stdio.h>
#include<math.h>

int main()

{
for(int n = 300; n <= 326; n++){
double x = 1.0;
for(int i = 1; i <= n; i++) x /= 10;
for(int i = 1; i <= n; i++) x *= 10;
printf("n = %d & & %.121f\n", n, x);
}
return O;
}
n =311 ®&Z 1.000000000000
n =312 O&E 0.999999999998
n =313 O Z 1.000000000013
n =314 Ok Z 0.999999999964
n = 315 O& X 0.999999998482
n =316 D& Z 0.999999983660
n =317 O& E 0.999999736627
n = 318 O & ¥ 0.999998748496
n =319 Ok & 0.999988867183
n =320 Ok Z 0.999988867183
n =321 O& X 0.998012604599
n =322 O X 0.988131291682
n =323 Ok X 0.988131291682
n =324 Ok Z 0.000000000000
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/* error_accumulation.c */
#include<stdio.h>
int main()

{
long N = 5;
double x = 0.2, sum;
for(int n = 0; n < 10; n++){
sum = 0.0;

for(int i = 0; i < N; i++) sum += x;
printf("n = 5 x 10°%2d & & Fl = %20.71f\n", n, sum);
N x= 10;



return O;

}

(GE2Y)

n=5x 1003 D& X M = 1000.0000000
n=5x 10" 4 O & Ml = 10000.0000000
n=5x 10" 5 D& & fl = 99999.9999991
n=5x 1076 D& Ml = 999999.9999108
n=5x 1077 O&E M = 9999999.9995118
n=5x 1008 O& X Ml = 100000000.9018808
n=5x 1079 ®&Z fl = 1000000087.8303370
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/* error_geometric_series.c */
#include<stdio.h>
#include<math.h>

int main()

{
double r = 0.999, x;
printf ("HRIEIZIMA B £ \n");
for(int j = 4; j <= 7; j+H){
long n = (long)pow(10, j);
x = 0.0;
for(long i = 0; i <= n; i++) x += pow(r, 1i);
printf("10"%d IHH £ TORH = %17.121f\n", j, x);
}
printf("\n");
printf ("BEIEIZINZ AL H ko2 F L T\n");
for(int j = 4; j <= 7; j++){
long n = (long)pow(10, j);
x =1.0;
for(long i = n; i >= 0; i--) x += pow(r, 1i);
printf("10"%d HEH £ TOM = %17.121f\n", j, x);
}
return O;
}
FMEZmz % &

10~4 JHH £ TOHI 999.954871827366
10"5 JHH £ TOHI 999.999999999951
10"6 JHH ¥ TOH = 999.999999999951
10°7 HE £ TOHI 999.999999999951
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104 JHH £ TODR = 999.954871827368
10"5 IHH £ TOHI 999.999999999999
10"6 JHH £ TOH = 999.999999999999
10°7 HE £ TOHI 999.999999999999
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/* error_cancellation.c */
#include<stdio.h>
#include<math.h>

int main()

{
double n, x, y, z, w;
for(int i = 5; i < 16; i++){
n = pow(10, 1i);
x =1/ n;
y=1/ (@+ 1);
Z =X -7Y;
w=z* (n=x*x (n+1));
printf("n = 10°%2d O & &F %15.12f\n", i, w);
n *= 10;
}
return O;
}
n=10"5 ®&E 1.000000000001
n=10"6 DX E 0.999999999892
n=10"7 OXE 0.999999999072
n=10"8 ®& X 1.000000010319
n=10"9 ®O&E 1.000000150211
n=10"10 ®& E 1.000000614600
n=10"11 D& E 0.999999968276
n=10"12 D& E 1.000048435881
n = 10713 O & X 1.000906716545
n=10"14 Ot X 0.993964740578
n=10"15 D& X 0.986076131526
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/* zetal.c *x/
#include<stdio.h>
int main()

{
int n;
double x = 0.0;
for(n = 1; n < 11; n++){
x +=1 / n;
if(n == 1) printf("1/1 = %15.12f\n", x);
if(n == 2) printf("1/1 + 1/2 = %15.12f\n", x);
if(n >= 3) printf("1/1 + 1/2 + ... + 1/%2d = %15.12f\n", n, x);
}
return 0;
}
1/1 = 1.000000
1/1 + 1/2 = 1.000000
1/1 + 1/2 + 1/3 = 1.000000
1/1 + 1/2 + + 1/ 4 = 1.000000
1/1 + 1/2 + + 1/ 5 = 1.000000
1/1 + 1/2 + + 1/ 6 = 1.000000
1/1 + 1/2 + + 1/ 7 = 1.000000
1/1 + 1/2 + + 1/ 8 = 1.000000
1/1 + 1/2 + + 1/ 9 = 1.000000
1/1 + 1/2 + + 1/10 = 1.000000
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/* array.c

BH U AWVEF] Dk

ML ali] = *(a+i) = *(i+a) = il[a] ZPORAZITE, bhrshiR?
*/

#include<stdio.h>

main()

{

int al]
char b[]

{1,4’2’8,5’7};
"Kochi";

for(int i = 0; i < 6; i++) printf("%dl[al = %d, ", i, ilal);
printf("\n");

for(int i = 0; i < 5; i++) printf ("%d[b]

%C’ ", i’ i[b]);

return O;
}
Ofal] =1, 1[a] =4, 2[a]l] =2, 3[a]l] =8, 4[a]l] =5, 5[a] =7,
0[b] =K, 1[b] =0, 2[b] =c, 3[b]l =h, 4[b] =1,



